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QUESTION 291 
Where is the interface between the control plane and data plane within the software-defined 
architecture? 
 
A. control layer and the infrastructure layer 
B. application layer and the infrastructure layer 
C. application layer and the management layer 
D. control layer and the application layer 
 
Correct Answer: A 
 
 
QUESTION 292 
Which action must be taken to assign a global unicast IPv6 address on an interface that is 
derived from the MAC address of that interface? 
 
A. configure a stateful DHCPv6 server on the network 
B. enable SLAAC on an interface 
C. disable the EUI-64 bit process 
D. explicitly assign a link-local address 
 
Correct Answer: B 
 
 
QUESTION 293 
Where does a switch maintain DHCP snooping information? 
 
A. in the MAC address table 
B. in the CAM table 
C. in the binding database 
D. in the frame forwarding database 
 
Correct Answer: C 
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QUESTION 294 
Refer to Exhibit. Which configuration must be applied to the router that configures PAT to 
translate all addresses in VLAN 200 while allowing devices on VLAN 100 to use their own IP 
addresses? 
 

 

 
 
A. Option A 
B. Option B 
C. Option C 
D. Option D 
 
Correct Answer: D 
 
 
QUESTION 295 
When a WPA2-PSK WLAN is configured in the wireless LAN Controller, what is the minimum 
number of characters that in ASCll format? 
 
A. 6 
B. 8 
C. 12 
D. 18 
 
Correct Answer: B 
 
 
QUESTION 296 
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Refer to the exhibit. Which configuration issue is preventing the OSPF neighbor relationship from 
being established between the two routers? 
 

 
 
A. R2 is using the passive-interface default command 
B. R1 has an incorrect network command for interface Gi1/0 
C. R2 should have its network command in area 1 
D. R1 interface Gil/0 has a larger MTU size 
 
Correct Answer: D 
 
 
QUESTION 297 
Which IPv6 address type provides communication between subnets and is unable to route on the 
Internet? 
 
A. global unicast 
B. unique local 
C. link-local 
D. multicast 
 
Correct Answer: B 
 
 
 
 
 
QUESTION 298 
Which action is taken by a switch port enabled for PoE power classification override? 
 
A. When a powered device begins drawing power from a PoE switch port a syslog message is 

generated 
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B. As power usage on a PoE switch port is checked data flow to the connected device is temporarily 
paused 

C. If a switch determines that a device is using less than the minimum configured power it assumes 
the device has failed and disconnects 

D. Should a monitored port exceeds the maximum administrative value for power, the port is 
shutdown and err-disabled 

 
Correct Answer: D 
Explanation: 
https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst6500/ios/12-
2SX/configuration/guide/book/power_over_ethernet.pdf 
 
PoE monitoring and policing compares the power consumption on ports with the administrative 
maximum value (either a configured maximum value or the port's default value). If the power 
consumption on a monitored port exceeds the administrative maximum value, the following 
actions occur:?A syslog message is issued.?The monitored port is shut down and error-
disabled.?The allocated power is freed. 
 
 
QUESTION 299 
An engineer must configure an OSPF neighbor relationship between router R1 and R3 The 
authentication configuration has been configured and the connecting interfaces are in the same 
192.168 1.0/30 sublet. What are the next two steps to complete the configuration? (Choose two.) 
 
A. configure the hello and dead timers to match on both sides 
B. configure the same process ID for the router OSPF process 
C. configure the same router ID on both routing processes 
D. configure the interfaces as OSPF active on both sides 
E. configure both interfaces with the same area ID 
 
Correct Answer: AE 
 
 
QUESTION 300 
Which configuration management mechanism uses TCP port 22 by default when communicating 
with managed nodes? 
 
A. Ansible 
B. Python 
C. Puppet 
D. Chef 
 
Correct Answer: A 
 
 
 
 
 
 
QUESTION 301 
A network engineer must create a diagram of a multivendor network. Which command must be 
configured on the Cisco devices so that the topology of the network can be mapped? 
 
A. Device(Config)#lldp run 
B. Device(Config)#cdp run 
C. Device(Config-if)#cdp enable 
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D. Device(Config)#flow-sampler-map topology 
 
Correct Answer: A 
 
 
QUESTION 302 
A network administrator must to configure SSH for remote access to router R1 The requirement is 
to use a public and private key pair to encrypt management traffic to and from the connecting 
client. Which configuration, when applied, meets the requirements? 
 

 
 
A. Option A 
B. Option B 
C. Option C 
D. Option D 
 
Correct Answer: C 
 
 
QUESTION 303 
A device detects two stations transmitting frames at the same time. This condition occurs after 
the first 64 bytes of the frame is received interface counter increments? 
 
A. collision 
B. CRC 
C. runt 
D. late collision 
 
Correct Answer: D 
Explanation: 
https://www.cisco.com/c/en/us/support/docs/interfaces-modules/port-adapters/12768-eth-
collisions.html 
 
QUESTION 304 
Refer to the exhibit. Which prefix does Router 1 use for traffic to Host A? 
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